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CLI:

# debug traffic wired ip capture % Witing packets to "/tnp/pcap/2802_capture. pcap0" #reading
fromfile /dev/click_wred_log, |ink-type ENIOMB (Ethernet)
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CLI:
#pi ng 10. 201. 236. 91 Sending 5, 100-byte |ICMP Echos to 10.201.236.91, timeout is 2 seconds !!!!!
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CLI:
#no debug traffic wired ip capture

6CHA|. U E tfitp A0l SAFEFLICEH

CLI:

# copy pcap 2802_capture. pcap0 tftp: 10.201.236.33
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.Ho. S Destintion Profoedd Length  Seresr @ Enlo
— - 18.281.235.81 18.281.236.91 ICHP 142 Echo (ping) request id=8xScdf, seqs1/256, tti=64 (reply in 133)
— - 1B.281.235.91 18.281.236. 81 ICHP 142 Echa (ping) reply id=fubedf, seqs=1/256, Tttl=255 (reguest in 131)
-~ 1,.2081,.236.81 18, 281.236.91 LCHP 142 Echo (ping) request id=Owécdf, seq=2/512, ttil=&4 (reply in 143)
~  19.281.236.91 18.281.236.81 ICHP 142 Echa (ping) reply idsfubcdf, seqe2/512, ttl=255 (request in 141)
- 1B,201,236.81 10,.201.236,91 LCHP 142 Ezho (ping) request Id=oxécdf, seqe3/768, ttis=&d4 (reply in 15@)
~  1d.201.236.91 18,281,235, 81 ICHP 142 Echo (ping) reply delbcdf, seqed/TEE, ttls=255 (reguest in 148)
-~ 18.201.236.81 16.201.236.91 ECHP 142 Echo (ping) request Id=@xécdf, seqed/1924, ttl=64 (reply in 159)
-~ 18.201.236.91 16.201.236.81 ECHP 142 Echo (ping) reply idulbcdf, sequd/1824, ttls25S (request in 187)
- 10.201.236.81 10.201.236.91 ICHP 142 Echo (ping) request IdedxScdf, sequ5/1289, ttl=bd (reply in 166)
-~ 18.201.236.91 16.201.236.81 ECHP 142 Echo (ping) reply idwldcdf, sequs/ /1280, ttls258 (request in 164)
- 10.2081.236.81 10.201.236.65 ICHP 142 Echo (ping) request Ideduécfd, sequl/256, ttlssd (reply in 196)
-~ 10.201.236.65 10.201.236.81 ICHP 1a2 Echo (ping) reply idwldcfd, seqel/256, ttle=255 (request in 154)
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